BB EHENZREE (RNEE) fiRkE  NHER
No. | A | B |IRA£% | XHe8E | ES ] = XHHE
1| 31| 4 | 25| 360,000 BEESHE (EFH5) B%EBE
2[ 31| 4 | 3 6,264 353,736|/\Va ) —RHE (v—)4B BERMERE
3| 31| 4 | 22 2,160 351,576|F)>A2—1)—ZXF (F+v/>) 4R BERMERE
4 31| 4 | 26 3,838 347,738|REAFEMK (KH) 4AH BEHEAZ
5( 31| 4 | 27 3,400| 344,338|FESHEMN (KA) 485 BEHEAZ
6| 1| 5| 7 6,264 338,074|/\Ya ) —RH (v—F)5A % BERMERE
7| 1| 5|13 49,550| 288,524| KHRIEE 295 FIRIH (KH) L&
8 1| 5 | 20 2,160| 286,364|F)R3—1)—ZXF (Fv/>) 5AH BERMERE
9| 1| 5 | 27 3,838 282526|RE AR (KH) 5A % ENBAR
10 1] 5| 28 3,400 279,126|FEcH MK (KH) 5A% BEHEAZ
11| 11 6| 3 6,264| 272,862(/8a ) —RE (L r—T)6AH BERMERE
12 1] 6 | 11 2,160 270,702|F)2R3—1)—ZXF (Fv/>) 6AH BERMERE
13| 1| 6 | 27 3,838| 266,864|HE HFTEMN (KHA) 685 EHEAE
14| 1] 6 | 28 3,400 263464 |FEcHTEMN (KH) 6A % BEHEAZ
15| 11 7| 3 6,264 257,200|/XVaAL)—RF (L ¥—)TAH BERMERE
16| 1] 7 | 19 2,160| 255,040|F)23—1)—ZXF (Fv/V) TRH BERMERE
17 1| 7 | 29 3,838| 251,202|REHFTEMR (KA) 7TAH EHEAE
18 1| 7 | 30 3,400 247.802|FscHEMNK (KE) 7TA% BEHEAZ
19 1| 8 | 5 6,264 241,538|/XVaL)—RF (L ¥—)8AH BERMERE
20 1| 8 | 9 26,136 215402(fFABEEFE175HRIE L#HE
21 1| 8 | 27 3,838| 211564|REHFEMK (XA) 8B L EHEAE
22| 1| 8 | 29 3,400 208,164 |FescHEMN (KH) 8A R BEHEAZR
23| 1| 8 | 29 3,093| 205071|EABHENK(KHA) 8ARH BEHEBAE
24| 1| 9 | 3 6,264 198,807|/\Va ) —R# (v—F)9A 5 BERMERE
25 11 9 | 4 2,160| 196,647|F1)>a2—1)—RF (Fv/V) 8AH BERMERE
26| 1| 9 | 24 2,160 194,487|F)23—1)—ZXF (Fv/>) 9RH BERMERE
27 1| 9 | 27 3,838 190,649|RE HFEMN (XA) 98 L EHEAE
28| 1| 9 | 28 3,400 187,249|FmscHEMK (KH) 9A R BEHEAZ
29| 1| 9 | 28 3,093| 184,156|F HFEMK (KHA) 9AH BEHEAE
30 1/10] 3 6,264 177,892|/\yar)—# (S rv—)10AH BERERE
31 1] 10| 11 2,200 175,692|F)>A—1) =R (F¥/V) 10AH BERMERE
32| 1/ 10] 11 20,150 155542 (#EAEIE S 18 S IR (FEA) L&
33 1/ 10] 24 50,160| 105,382| XHEE %30S ENRIHK (KHA) L#HE
34 1| 10| 25| 360,000 465,382 |5 EENE (T A5 BEES9E
35 1/ 10| 26 3,093| 462,289|F HFEMN (KHA)10A 5 EHEBEAE
36| 110 28 3,838 458,451|REAFHER (KH)10A % BEHEBEAZ
371 1/ 10] 30 3,400 455,051 |FE5cH M (KE)10A % EHEAE
a 720,000 264,949 455,051




BB ETHENZREE (RNEE) SikE  NHER
No. | | B | B |IRASE | ZHE5E | BS ] = X HEHE
455,051

38l 1| 11| 1 28,600 426451|E ) FEHE /\H£2. 3 EMBAR
39 1|11 5 6,264 420,187|/\Ya ) =R (L v—N11A S BERMERE
40 1| 11| 27 3,838 416349|REAFHFR (KH) 11AH ENBAR
411 1 11 ] 27 3,400 412,949|FEHHEK (KH) 11AS BEHEAZ
42 1| 11| 9 28,520 384429|M1AEBEMERRE (BAR) HEE

43 1/ 11 ] 15 2,200 382,229|F)A—1) =R (Fv/V) 11AH BERMERE
44 1| 11| 15 30,000 352229|MAEBEMESZER (HBX) HEE

45 1| 11| 16 2,400| 349,829(ZHE (A HEDADEFEHANTEBMOLS) BEHEAZ
46 1|12 3 6,264 343,565|/\a ) —RH (v—) 1285 BERMERE
47| 112 20 2,200 341,365|F)A—1) =R (Fv/>) 12A5 BERMERE
48 1| 12| 27 3,838 337527|ReA#FMEK (KH) 12A% EHEAE
49| 1/ 12| 29 3,400 334,127|FmscHEMK (KE) 12A% BEHEAZ
50 2[ 1] 6 6,264 327,863|/XVaV)—RF (T ¥—N1AH BERMERE
511 2/ 1|10 23,250| 304,613|BBARFBRBIEFE195HRE (FBRX) L#HE

52 2| 1 |17 2,200| 302,413|F 2 a—1)—RE (F¥/V) 185 BERMERE
53 2 1|27 3,838 298575|REAFHMK (KH) 1A% BEHEAZ
54 2| 1 | 29 3,400 295,175|FScH R (KH) 1A% BENBAR
55| 2| 2 | 3 6,264 288,911|/\ya ) —RH (L v—)2A % BERMERE
56| 2| 2 | 23 2,200 286,711|F > a2—1)—Rf (Fv/V) 285 BERMERE
57| 2| 2 | 26 3,838 282873|REA#FMENK(KH) 2AH BEHEAZR
58| 2| 2 | 27 3,400| 279473|FFEEHEMNR (KA) 2A % EHEAE
59| 2| 3| 3 6,264 273,209|/\Ya ) —R# (v—F)IA S BERMERE
60| 2 3 [ 12 1,457 271,752|aE—A#K BERERE
61| 2| 3 | 18 8,260| 263,492|AIh—R ¥ BERMERE
62 2| 3| 18 2,200 261,292|F1)a—1)—Rf (F¥/V) 3AH BERMERE
63| 2| 3 | 27 3,838 257454|REAFHMK (KHE) 3AH BEHEAZR
64| 2| 3 | 28 3,400| 254,054|FESEHEMN (KA) 3AH EHEAE

& F 720,000 200,997| 254,054




